EXAM FM QUESTIONS OF THE WEEK

S. Broverman, 2006

Week of Auqust 7/06

A loan is amortized over 10 years with level monthly payments at the end of each month.
The amount of principal paid in the final 12 paymentsis 2.5 times as large as the amount of

. .- . . . amount of interest paid in final 12 payments
principal repaid in thefirst 12 payments. Find the ratio Zr it crmiaes padin firs 12 payments -

The solution can be found below.



Week of August 7/06 - Solution

Suppose that the loan amount is L and the monthly interest rateis j.
The monthly paymentis £ = K.

@120

The principal paid in thefirst 12 paymentsis
K[vm +l19 4. +U109]
and the amount of principal paid in the final 12 paymentsis

Wearetoldthat K[v'?2 + vl + .- + 0] = 25K 0! + o119 4 ... 4 9199]
Therefore, (1+7)'% = 2.5,and j = 2.5"/105 — 1 = .008520..

The amount of interest paid in the first 12 paymentsis

12K — K[v'?0 + o119 + ... 4019 = K[12 — (a120); — a108))] »
and the amount of interest paid in the final 12 paymentsis

12K — K[ + o' + - o' = K[12 — agy,] -

Theratio of interest in final 12 payments over interest in first 12 paymentsis

K[12—(am\j—amu)] 12—((1@“7-—(1@‘]-) 12—4.5445 . .




